Year 5 and 6 Identifying clauses: Answers

A:

la, Example answer: The rugby malch
had fo be posiponed because the pilch
was woterogged.

20, bxample answer; Alfie ran away from
the road because he was scared of the
fraffic,

3a. She is not comect the subordinate
clause is Due fo the weather because it
does not make sense on ifs own,

b, Example answer: Despite the cold,
Jacob shill wanfed fo play in the garden.
2b, Example answer; The party wos
great success, even though it was a rush
fo prepare,

3b. He is not comect, the subordinate
clause is because the leacher was unwel
because it does nol make sense on its
own,




